Activity 35
Surface Area of Pyramids and Cones

Surface Area of Pyramids
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NOTE: Do not plug in the height of the

pyramid, as represented by the variable h,

into the surface area formula of a pyramid!

Use the slant height, represented by /, which

is the altitude of the lateral face. .

Oftentimes, you will need to use the Base
Pythagorean Theorem, a special right s
triangle or a trigonometric ratio to find the

slant height.

Examples: Find the total surface area and the lateral area of each regular pyramid.
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5) Find the lateral area of a right pyramid whose slant height is 18 mm and whose base is a
square with area 121 mm?.
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Activity 35
Surface Area of Pyramids and Cones

Surface Area of Cones
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NOTE: As in pyramids, do not plug in h as
the height of the cone when finding its
surface area.

Again, you will often need to use the
Pythagorean Theorem, a special right
triangle or a trigonometric ratio to find its
slant height.

Examples: Find the total surface area and the lateral area of each right cone.
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5) Calculate the surface area of the
cylindrical rocket and “nose cone” if the slant
height of the nose cone is 8 feet
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